GENERAL SCEINCE /CHEMISTRY -3/ATMOIC STRUCTURE

1. Name the scientist who propounded a thoery that electrons are trapped in a positively charged

sphere./3H deilioleh &l ATH ScsU Toldel I feuid glauried fhar f& setaciel U=rafid
Mer 7 FH T B

(a) E. Rutherford/é’. TEIHS

(b) J.J. Thomson /. 5. UTHTT

(c) Camillo Golgi /&A@ fear

(d) Neils Bohr/siteq &gl
RRB NTPC 03.02.2021 (Shift-I) Stage Ist

e J.J. Thomson propounded a theory that electrons are trapped in a positively charged sphere.

e Thomson proposed a model of the atom consisting of positive and negative charges present in
equal amounts so that an atom would be electrically neutral.

e He proposed the atom was a sphere, but the positive and

e negative charges were embedded within it.

o I3 UIHES o Ue RAgUid yiauiied fRar fF geraele 9afia e H ¥ WA 8l

o UTHHA & WA & Teh HAlse YEaidd fmar Srad qaer A1 & Hisfg FhRcAs 3R
ADRIcHS TTol ATAT I dIfeh Teh WA Tdegd & § e &l

o 3ogi ST AT foh oA U alel B, AT HHRIcHS 3R

o 3 MR AFNIHS IRT IdfAfed A1

2. Which sub-atomic particle was discovered by J Chadwick? /5t d3fae o fhd 3"~'I'-ERTITU;I' FUT HT
et hr dre
(a) Proton/SYeieT
(b) Electron /SoieFelel
(c) Neuron/FSI‘\T\IJ?-T
(d) Neutron /F&:cj?f
RRB NTPC 19.01.2021 (Shift-1l) Stage Ist

e Neutron was discovered in 1932 by James Chadwick by using scattered particle to calculate the
mass of the neutral particle. The sub-atomic particle "Neutron" is present in an atom's nucleus.

o FUgI T @S 1932 H SFH UsfAh o TETY HUT F GodA H IV A F AT @ go
HUT T 3T e HT | WA & AfHS FH 3T-RA] 0T "=gglel” HAlope giar gl

3. Which British physicist was awarded the Nobel Prize in Physics in 1906 for his work on discovery of

electrons? /e fafeer sifas faame & soacial fr @eT W 396 H1 & v 1906
HIfdHT 7 Aol REPR A FEATAT fohar arr e

(a) James Chandwick/sie8 drsfas

(b) Niels Bohr/sfeqd S1&T
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(c) J. ). Thomson /a7 S AT

(d) Ernest Rutherford/37si€c TEIHIS
RRB NTPC 16.01.2021 (Shift-I) Stage Ist

e Name of Scientist - Discovery- Nobel Prize year

e J.J Thomson. - electron - 1906

e Ernest Rutherford - Father of nuclear Physics. The discovery of nucleus of an atom through
gold foil - 1908

e Niels Bohr - Special contribution on atomic structure - 1922

4. Who discovered electron? /séckg:fo-l Fr @t e &
(a) Michall Faraday /HTSehel LTES
(b) J.J. Thomson/at.5Y. UTHTT
(c) Albert Einstein /3Teac IEEA
(d) J.C. Bose/<T.4T. &9
RPF SI 24.12.2018 (Shift - 1)

RRB JE CBT-1l 28—-08-2019 (evening)

5. Generally, the nucleus of an atom consists of ... /3TTH aR U, cR?ITU;I' & ATAS H ... ?IFT %’
(a) protons and neutrons /el 3R Fﬂf@l@_rf
(b) protons and electrons /9l 3R Wﬂ'
(c) electrons and neutrons /sﬁa—ﬁ?r 3R Fil:d':llﬂ'
(d) neutrons only /&del Fa@’?r
RRB J.E. 2014 (14.12.2014 Red Paper)

An atom is the smallest particle of an element that can participate in any chemical reaction. But one
cannot remain free. The nucleus of an atom consists of protons and neutrons.

e A proton is a micro particle inside the nucleus, whose relative mass is approximately equal to
the mass of the hydrogen atom and has a unit positive charge. Goldstein is related the discovery
of this particle with positive charge.

e A neutron is a micro particle inside a atom nucleus whose mass is approximately equal to the
mass of the proton. But there is no charge on it. Namely, a neutron is a neutral particle.
Neutron was discovered by James Chadwick in 1932 by striking a -particles on beryllium metal.

o WA TRl dcd &1 FaW B HOT ¢ S Tl of e gfafsrar 7 emer o dehar B
AT IS FaAT G 1 Thall. WA & A 7 Wieial 3R =ggieT g &

o Wl AIfAE & 3T Uh GEA HUT g, [H@HT A8 SeTATT T §T8gloled WA & GeTHTd
% SEX BT g 3R SHH Ueh SHIS YellcHe 3TAU BT gl INesTCld I Y UATcHS AT
arel 39 FUT T W T g
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o LA WA ATRF & e Teh F&H HUT § [SHAI GeTAET oIl Neled & GeqHAT &
X BT 81 Afdhed 30 W HIS arat 76T ¢ 30T, Sl T JTET HUT g1 =ggled dr @iaf
1932 # S Asfaeh o INFATH U1 W o-Folt & TeR Fh HT A

6. In the nucleus of an atom. ...... found? /W'U;I' ol 1 ol = A e
(a) neutron /Fq\'c,":llﬂ'

(b) electron /Sl

(c) protons/SereT

(d) Protons and neutrons /9 e 3R r?JI“EAUFi
RRB JE 29.05.2019 (Shift-I)

7. is electrically neutral and weakly microatom. /........... ﬁa?g?—f T T deT IR AR Ltxal
AT B
(a) neutrino /W
(b) positron /q\ﬁ?l'fllﬂ'
(c) electron/SoeFeleT
(d) proton /9YeleT
RRB NTPC 12.04.2016 (Shift-I) Stage Ist

e The neutrino is electrically neutral and weakly micro-atom. Neutrinos is a new particle, first
discovered by Pauliin 1930 AD.

o i e §U & dCEY 3R HHR FeH WA §| ~FeaAr Toh w731 HoT g, Toraehr st
Y Ygol 1930 §. F Ur3el o Hr AN

8. The equivalent anti-particles of electron are called ..............
SIFelel & HAJeT FldhoT ... FHgelld gl

(a) neutron/mmu?{

(b) proton /HYeleT

(c) anti electron/faRTe SolarelaT

(d) positron /‘:IVT%?,"I;?T

RRB NTPC 18.01.2017 (Shift-I) Stage lind

e The equivalent anti-particles of electrons are called positrons. The positron is an elemental
particle found in the electron atom, which was discovered byCarl D. Andersen in 1932 A.D,, it is
a positively charged particle, whose mass and charge are equal to the electron, so it is also
called the electron's antiparticle.

o Solagldl & HAJeT IAHUN HT GIfcial gl ST g1 Uioigiel Soleclel TRATY] F 9T STt
arell U HAifolsd T §, [T Wil el 3. UsA of 19328, & & off, a8 v e=afia &or

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE



GENERAL SCEINCE /CHEMISTRY -3/ATMOIC STRUCTURE

¢, oraeT gegaAre 3N 3Maer geacled & SRIaX giaT §, SAAIT 38 SoldalT & Ufdeor 8 &gl
ST §1 .

9. Who discovered the electron? /$<>\1¢§To1 $r @rer frae
(a) Niels Bohr /aiTeq dIgT

(b) J.J. Thomson /.. ATHTT

(c) Albert Einstein/3Teac IEEA

(d) Ernest Rutherford /37e1€c IEIHIS
RRB JE 27.06.2019 (Shift-I)

RRB NTPC 17.01.2017 (Shift-I) Stage Ist

e The credit for the discovery of the electron goes to J.J. Thomson. Electron is a particle whose
mass is 9.1 x 10-31 kg. and on which the unit negative charge is 1.6 x 10-19 coulomb.

e SolFCleT T WISl & AT .. B AT & UTFAT. Solacled Ueh T ¢ [STHPT gegaAmT 9.1 x
10-31 faram 81 3R f9H W 1 HOMcHAS @A 1.6 x 10-19 Foldd §

10. Which of the following particles has positive charge? /AT # & 9 T W aaTcdqs
3Taer BT g?

(a) neutron
(b) proton
(c) electron
(d) krypton
RRB NTPC 29.03.2016 (Shift-11) Stage Ist

e The proton is a fundamental positively charged particle with neutron in the nucleus of an atom.
The pairs of protons and neutrons are called nucleons, which are bound together by the nuclear
force in the atomic nucleus.

o UITI U WA & AlSh H ~gcial & Y Toh Ao Uallcash A For g1 dela 3R
el & SIS A ~gfFerdiel el Sl 8, S GAY] AfFd F GA] ol GINT Ueh 6 F&
gid gl

11. Sub-atomic particles which have opposite properties from normal sub-atomic particles are known
as? /{9 3T-GRA] FUT & I0T WHAY IT-RAV] FOIT § AT 81T &, 3¢ FIT Fgl I
g?

(a) Positron

(b) Anti-particles

(c) Photons

(d) Neutrinos
RRB NTPC 31.03.2016 (Shift-1ll) Stage Ist
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e Sub-atomic particles that have opposite properties from normal subatomic particles are known
as anti-particles.

o O 3U-TAY] FOT & 0T VAT 3T-RAV] Foit & qolia g €, 3¢ wfcr-aor @t e 81

12. Who discovered the word 'atom'? /'WTU;I" ersG, I @ieT fohdsT &r?
(a) Dalton /sSTecdl

(b) Kanad /ehUTIq

(c) Lavoisier/eTaT o1

(d) Democritus /3HTTshed
RRB Group-D 31-10-2018 (Shift-I)

e Greek philosopher Democritus first used the word 'atom'. Which means that it cannot be
broken. In nuclear chemistry, there is small part of an element that can participate in any
chemical reaction but cannotremain in an free state.

e Atoms are made up of protons, neutrons and electrons. The size of atoms is very small and
mass is very small.

o ZAEN gRifash SAfched o Hol Ugel 'GRAY] WAsg T GINT AT ATl A o 58 AT AL ST
Hehll. WATY] TG ol &, el ded & Teh oYer ar GEam giar & it fonel off aamaiaren
FTAfRAr & #ET @ WA § Afthel TadT awer # A 7 T §1 WAL WS F §F @
g:l

o =ggia 3R goTEld. WATBT F FFR Tgd BT IR FeIHAA Iga ST @ Bl

13. An electron has a negative charge. /U Solacie] U FOMcHS AL &IdT &

(a) 1.6 x 10+18C
(b) 1.6 x 10~16C
(c) 1.6 x 10~18C
(d) 1.6 x 10-19C
RRB JE 29.05.2019 (Shift-I)

RRB Group-D 16-10-2018 (Shift-1I)
RRB Group-D 01-12-2018 (Shift-1I)

The electron has a negative charge of 1.6 x10-19C, while its mass is 9.1 x 10-31 kg.

14. Neutron is present in all atoms except.......... /rq(\g:lla-l___ FI BISHT T W’U}Bﬂ' H Fﬁ?@' gl
(a) Cr
(b) H
(c) C
(d) Mg
RRB Group-D 10-10-2018 (Shift-11I)
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1 electron with one proton is found in the hydrogen atom. There is no neutron in its nucleus.

15. Protons have ................ positive charge. /9elel & ooovvvevveene. YATcHS 3 BIT ¢l
(a) 1.6x10+18 C
(b) 1.6x10-18 C
(c) 1.6x10+19 C
(d) 1.6x10-19 C
RRB Group-D 02-11-2018 (Shift-11l)

The proton is a stable particle found in the nucleus of an atom with a positive charge of 1.6 x10—
19coulombs. Its mass is 1.67x10-27 kg. It was discovered by Goldstein in 1886, but this particle was
named Proton' by Rutherford (1919).

el Teh 8RR 0T § Sl AT & A1 # 1.6 x10-19F 1A & FhRIcHS dlel & HY 91T STl g
SHHT GTATT 1.67x10-27 hellame &1 ST TWIeT MesEelT o7 1886 F Hr o, dfheT 39 0T &1 ATH
TIHS (1919) A "WeleT @]

IYRANTIF HT AlGE &
(a) carbon /ahTeeT
(b) nitrogen /ATSEISTeT
(c) hydrogen/gT8giateT
(d) oxygen /3TTerdIsteT
RRB JE 23.05.2019 (Shift-1V)

e |n hydrogen all subatomic particles are present except neutrons.

o EIBITA H UGl N SIg T ITRATGS HOT Hislg gl &

17. Which of the following is not a sub-atomic particle of atom? /ATl @d & & HiT @r GIATI]
I IY-GHAT] HUT ALl &7

(a) Xenon/SHsITeT

(b) Neutron /m«:’?{

(c) Proton/SeleT

(d) Electron /SoieFelel

RRB Group-D 17-09-2018 (Shift-1I)
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e Electron, proton, neutron are sub-atomic particle of an atom. While xenon is not a sub-atomic
particle of an atom, but is one of the inert gases located in the 18th groups of the periodic table.

o Solagld, WIdid, 7giel Ush WA & 3Y-YLAIU] HUT §| STafch Fietel el GLATI] &l 39-
UIATY] FHUT AGT g, dfesh ITaT ARON & 189 FHg A Fua fny A6 A @ v B

18. Which of the following is not true about atoms? /CIW'U;Bﬁ F IR A Aaff@a & O i ar
T G 82
(a) Atoms of two elements are same. /& dcal & XA HHTA gl
(b) They occur in the order of 10-10m. /& 10-10 HeX & HH H gId &l
(c) Atoms are very small in size./tIW'U;l' ISR H EI§FT oIc 8id &l
(d) The atoms of an element are the same in all states./fh&@l ded & I{HATIT Tt 3raTA3t H AT
g &
RRB Group-D 12-11-2018 (Shift-I)
Correct statement about atom: -
1. Atoms of any two elements cannot be the same.
2. They occur in variance of 10-10m order.

3. Atoms are very small in size.
4. The atoms of an element are the same in all states.

WA & IR H TE HYA-

1. foheil @1 dcdl & TRAY] Teh FATT el &1 Tohel |
2.9 10-10 HIEX %A & Feetal & g Bl

3. TATY] HHR H 9gd BIC 8 &

4. TR Tca & IRATI] Tl I H AT &I £

19. Who is considered as the 'Father of Nuclear Physics'? /tlTFlTU;I' AR 1 ST FY AT SATaT
g7

(a) Neils Bohr /&Ted S18Y

(b) E. Rutherford /é:. TIPS

(c) J.J. Thomson /. 5. UTHTT

(d) J. Chadwick/aT sfaes
RRB NTPC 17.02.2021 (Shift-1l) Stage Ist

e Ernest Rutherford was a New Zealand physicist who came to be known as the Father of Nuclear
Physics. He is famous for his work on radioactivity and the discovery of the nucleus of an atom
with the gold foiled experiment.
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o 3T TIPS 7Yoilels & Hifdw e & oeg wam] difadhr & Sodh & &7 & S& S
g1 a8 WAUfAT X 30er A 3R A § &7 GAT & T WA & AfFd H @ & foaw
gfaey g

20.Who provided the basic theory about the 'Nature of Matter'? /'CIE'.TQfI' Fr ‘Wﬁr’ AR H Hel
g R ST R
(a) John Milton /3Tl fRees
(b) John Dalton /SiTeT STecsT
(c) Mendel /Hsel
(d) Lavoisier VSCIEEES
RRB NTPC 13.01.2021 (Shift-1) Stage Ist

e John Dalton Proposed basic theory about the 'Nature of Matter'. He told that the matter is
composed of exceedingly small particles called Atoms. atoms are neither created nor destroyed
during chemical reactions. An atom is the smallest unit of an element that canparticipate in a
chemical reactions.

o S SeeA A TS Y wFR ¥ A’ # g Reyia seAiaa Rl Seel drT R dens
I BIE-BIE U ¥ &1 § fSee TWA] Fgdd &1 THAAG FiAfhansit & aRreT oAy & ar
To1d & 3R 7 & v @ ¥ W] A dcd F Ged o1 s § S arafae wfafkanit
H AT oF ThaT gl

21. Who was the first to use a cathode ray? /a??ﬂg fHRIOT T 9T TEd f@@f raer foRam am
(a) Ernest Rutherford/37ei¥e T&IHIS
(b) John Dalton /SiTe STeesT
(c) J.J. Thomson/St. 5. UTHATT
(d) Goldstein /IMeaEEIeT
RRB JE 29.05.2019 (Shift-IlI)

e For the first time, a cathode ray experiment was performed by J.J.Thomson.

e Ugal IR HAS FRUT JANT .. ATATT gaRT foham arar |

22. The Rutherford atomic model does not describe .......... /Ialcﬁlé WTUI A ......... T goleT FI@'

LT &
(a) The presence of nuclei /TTT#& Fr 3UfEATT

(b) Charge of atom /WTU;I' FT AU
(c) Stability of an atom /9IHTI] $r R
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(d) Presence of electron /3@3—?:!’? $r suftufa
RRB JE 26.05.2019 (Shift-1ll)

e The Rutherford atomic model does not describe the stability of an atom.

o TEIHIS WA Hiser fHdl WA &1 &R 7 qoied g e gl

23. In the Rutherford atomic model, alpha particles are projected onto ................... ? /laqtﬁ'lé tR?:ITU:DI'
ASST H, A DM Bl oo, R geaifia forar Srar g2

(a) Gold

(b) Silver

(c) Titanium

(d) Aluminium
RRB JE 31.05.2019 (Shift-111)

RRB Group-D 28-11-2018 (Shift-1)

e |n 1911, Rutherford used alpha particle scattering which was responsible for the discovery of

nucleus in an atom.

o 1911 TEIWIS o 3Tl HUT FhIUT T 3UGNT fhar St RATI] H A1 & @st & fow
fSFAeR o

24. What was discovered as a result of Rutherford's alpha scattering experiment? /{q{l-hls(; & 3w
THeRaT gaeT & aRuTATIRT a1 @iar T4

(a) neutron/mmu?{

(b) proton /HYeleT

(c) nucleus in atom/9YATIT H AfFH

(d) electron/SoFeleT

RRB JE 27.05.2019 (Shift-1ll)

25.The nucleus model of the atom was first discovered by? /CR?:lTU;I' FT ARG HAseT I ‘:I%ﬁ
feheeh ganT @iaTr arr are

(a) Ernest Rutherford
(b) Dmitri Mendeleev
(c) Niels Bohr

(d) Louis Pasteur
RRB Group-D 23-10-2018 (Shift-11I)

The atomic nucleus model was first given by Ernest Rutherford. /EITHTUI AfAF AlsT TIH Ugo 3eiee
TS garT fear amr o)
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26. What is the maximum number of electrons that M shell can contain? /M 1T & E@IT:I'E:IJHT $r
TR dH F&AT fhcsil g1 Hehll &7
(a) 8
(b) 2
(c) 18
(d) 32
RRB ALP & Tec. (09-08-18 Shift-1li)

Ans : (c)
The rule is as follows.

e The number of electrons in K, L, M, N are as follows. The number of electrons in an orbit is equal
to 2n2

o 399 3@ R &

e K L M,NH ol HI T&IT 59 TR & Rl FelT & soacliar s T&AT 2n2 & SR gidr
e

e wheren=K L M,Nor1234

e The given shell M means n = 3, therefore maximum
e number of electrons in M shell is 2 x 32 =18

27. The number of electrons that can be adjusted in N Shell; /N qT H ARSI T ST Tehol aTel
SolFaisll T TET;

(a) 18

(b) 32

(c)2

(d)8

RRB Group-D 16-11-2018 (Shift-1I)

28. The third orbit is denoted as ............. shell. /Fﬁﬂﬂ' FETT Pl ... HIA & T F 2T=r AT %’I
(@L
(b) K
()N
(d) M
RRB JE 26.06.2019 (Shift-1)

The third orbit is denoted as M shell.

29. What is the maximum number of electrons that can be accommodated in an atom's K sheII?/ﬁT{:ﬁ'

TRATY] & KRN H W ST Tl ATl SoAFelall T fhcid H&dT fohefall &2
(a) 8

(b) 18

(c)2

(d) 6

RRB Group-D 05-11-2018 (Shift-1I)
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30.What is the number of electrons that can be placed in the L cell? /L Tl H IW ST Hebel ATl

Soldglell sl TEAT fohdell &7
(a) 8

(b) 2

(c) 32

(d) 18

RRB Group-D 19-09-2018 (Shift-11I)

31. The atomic number of an element is 13. So how many shells does this element contain? /Teh dcd

T TRATY] FEAT 13 §| A 3 ded H e FHIeT g7
(a)3
(b) 1
(c) 4
(d)2
RRB Group-D 27-09-2018 (Shift-1ll)

Aluminium has 13 electrons in total( Atomic number 13), therefore according to 2n2 rule K, L, M
(n=1,2,3) shells in aluminium atom will be filled as 2 electrons in K, 8 in L and remaining 3 will enter into

third M shell./TegHTATH H Fel 13 Felreld 8ld ¢ (WA HaAlw 13), 3AAT 2n2 e K, L, M
(n=1,2,3) & 3TEN ToIHIAIH GTATI] H HIer K, 8 F 2 SFlall & &I H #Y 0| LH 3R A9 3
EY M AT F yader HEEn

32. The maximum number of electrons that can be configured in the fourth level of energy is. /ﬁ‘l’ &

WY TR FH FifeHIR [HY ST ool aTel Solaelal ST fhdd T&AT ¢l
(a) 2

(b) 32

(c) 18

(d)8

RRB Group-D 23-10-2018 (Shift-1I)

e The maximum number of electron in any orbit or energy level of an atom can be 2n2, with 'n’
being the serial number or prime quantum number of that orbit.
e Therefore, the maximum number of electrons in group fourth or energy level will be 32.

o ToRET GTATO] Y TRl Felr A1 ol TR H gl I HWhAR FEAT 2n2 g Fhehl B, e
'n' 3G HET $I hH TEIT IT JHAST Faied TJ&AT ¢l
o 3a: GHE IQY AT FoAl T H gl I ke FEar 32 gl

33. What is the electronic configuration of rhodium?

AfSTA FT gelagiaen faeara & g2
(a) 1s2 252 2p6 3s2 3p6 3d10 4s2 4p6 4d8 551
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(b) 152 2s2 2p6 352 3p6 4s2 3d8 4p5
(c) 1s2 2s2 2p6 351
(d) 152 2s2 2p6 352 3p6 4s1 3d5
RRB NTPC 17.02.2021 (Shift-11) Stage Ist

e Rhodium atoms have 45 electrons and the shell structure is 2,8,18,16,1. The electronic
congfiguration of rhodium is 1s2 2s2 2p6 3s2 3p6 3d10 4s2 4p6 4d8 5s1.

o UTTIH GTAIRHT # 45 Felaeld gl § 3R FIer T 2,8,18,16,1 81 &1 UfSTH
Solgelioleh [edrd §-152 252 2p6 352 3p6 3d10 4s2 4p6 4d8 5s1

34. Name the element which has an electronic configuration of 2, 8, 7. /38 dcd ol TH ddlsU

ST ol faeard 2,8,7 §l
(a) Carbon
(b) Hydrogen
(c) Chlorine
(d) Helium
RRB NTPC 07.01.2021 (Shift-I) Stage Ist

e Chlorine is an element in the periodic table which belongs to the halogen family. It's atomic
number is 17.

e The electronic configuration of chlorine is 2, 8, 7. It is used to treat drinking water and swimming
pool’swater, for the production of paper, plastic, medicines etc.

o FANIT T ARON H TH dcad § S Feltoled IRAR ¥ FfRAIT §1 SHHT WA HAH 17 B
o FANIA H Folacicih Ao 2,8, 78| 3HH 39T ot & qrelt 3R Fafdier qar & arelt &
3R, TS, TlTee, GaTit 3MfE & 3caied & forw fhar Srar g

35. An atom has electronic configuration 2, 8, 7. What is the atomic number of this element?/Tch

URATY] T Soldeiieieh [a=ad 2,8,7 &1 $H dcd & GHAT] haAlh F4T g2
(a) 17
(b) 18
(c) 16
(d) 20
RRB-JE 30.08.2019, Ist Shift

e The number of electrons present in an atom as = 2+8+7=17
e Therefore, the atomic number of this element is 17 and the element is Chlorine.

o Udh WA A HAlGE Felaelidl H F&AT = 2+8+7=17 §
o 37c: $H dcd T WHA] Hh#Alh 17 § TUT ded Folio gl

36. How many electrons are there in the outermost shell of all noble gases except helium?/§feias I

BIsHY T Scpse NGl & Fal Bl AT F fhda gl gl §?

(a) 10
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(b) 6
(c) 4
(d)8
RRB ALP & Tec. (10-08-18 Shift-I)
Inert gas Electronic configuration
HC: 2
Neyg 2,8
Al'[x 2, 8, 8
Krsg 2,8,18,8
Xesy 2,8,18,18,8
Rnx(, 2, 8, 18, 32, 18, 8

37. What is the number of electrons in the outermost shell of the most stable or inert atoms? /H_sﬂff

ORI 3fohT SRATUBET & T STEd T H Solaiall I AT feheell Bl &2
(a)4
(b) 1
(c)6
(d) 8

RRB JE 26.06.2019 (Shift-1)

38. The electronic configuration of an element is 2, 8, 5. What is the name of that element? /ﬁv_\':ﬁ' decd

P SolFclialh Qe 2,8,5 &l 39 dcd &l AT FIT g7

(a) Phosphorus/®TERRY
(b) Sulphur /et
(c) Chlorine/aFelisT
(d) Magnesium /HTATATHT
RRB Group-D 12-11-2018 (Shift-1)
Element Electronic Configuration
1. Phosphorus (;sp™')~ 2,8, 5
2. Sulphur (165"‘)_— 2.8.6
3. Chlorine (,,CI") - 2.8.7
4. Magnesium (13Mg‘4) - 2.8,2

39. If the atomic number of a krypton is 36, its electronic configuration will be: /afe fpcear &r LR?I'I'UI

HEAT 36 g, dl STFT Soigciieleh Qagdrg gIam:
(a) 2, 18, 16

(b) 2, 8,18, 8

(c)2, 18,8, 8

(d) 2,8,20,6

RRB ALP & Tec. (09-08-18 Shift-1l)
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GENERAL SCEINCE /CHEMISTRY -3/ATMOIC STRUCTURE

e Krypton (Kr) has atomic number 36 and atomic weight 83.80. Its electronic configuration is 2, 8,
18, 8. Krypton is an inert gas. It was discovered by William Ramsay.

e |tis used to fill the electric immersion tubes. In addition, it is also used in ionized chambers used
for measurement of cosmic rays.

o fohTea (Kr) &l WA sl 36 3N GAI] R 83.80 §| SHH Folaclialh [d=ard 2,8, 18,8
g1 foreeat wa 31foha 3 &1 soe @ fafoas & & &r o

o 3HH 3UANT facgd fAusiT A I F U R ST §1 sHE 3raa, SHHT IqANT
FITEAS RO & AT & fAT 3T R S arel HAelha e 7 o fvar Sar gl

40. Electronic configuration of an element is 2, 8, 2 Name of element? /fR8T dcd T $<>\1<=kg:|’fa\-|ch
faeare 2,8,2 § dea &1 a1H 82

(a) Potassium /9T fRITs
(b) Sodium /&SI
(c) Magnesium /AT TR
(d) Radon /33TeT
RRB Group-D 12-12-2018 (Shift-1)

Element-Name, (AtomicNumber) (Electronic

Configuration)
Potassium (K) 19 2881
Sodium (Na) 11 281
Magnesium (Mg) 12 282
Radon (Rn) 86 2, 8,18,32,18,8
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